N\
ns INSTALLATION INSTRUCTIONS
/ )

Y
F I SH B O N E é(/(( PART No. FB22359

OFFROAD
2022+ Ford 6thGen Bronco
Front Bumper

2

VIDEO AVAILABLE

|
jﬂ&ﬁ‘n&
REQUIRED TOOLS KIT CONTAINS Qry
15mm Socket Front Bumper 1
18mm Socket D-Ring 2
18mm Wrench M12 Hex Bolt 6
Pliers M12 Hex Nut 6
M12 Oversized Washer 3
M12 Lock Washer 6
Help of a friend Mounting Bracket 2

2235900

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



F] SH B O N Eé%‘@?\%}& INSTALLATION INSTRUCTIONS
7//

OFFROAD PART No. FB22359

oo 2022+ Ford 6thGen Bronco
Eront Bumper

1) REMOVE EXISTING BUMPER
Begin removing your vehicle’s existing front bumper
and sensors. We show how to remove and
disassemble your factory bumper over at
w d

Install any light pods or bars at this time. Note: If
your vehicle has Active Cruise Control, installing a

2) ASSEMBLE
Install your sensors and power harness in the same
location as the factory orientation, by tightening
down the bracket screws. Secure the harness to the
brackets throughout the bumper.

3) INSTALL
With a 15mm socket, install the mounting brackets

2235900

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM


http://www.youtube.com/FishboneOffroad

\\\\

F] SH B O N E (@ INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB22359

2022+ Ford 6thGen Bronco
Front Bumper

With the help of a friend, hold the bumper up to the
mounting brackets and with included hardware,
secure the bumper to the frame with a 18mm socket
and 18mm wrench.

2235900

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



